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6.4 Triangle Midsegment Theorem

Bellwork

Find the measure of the unknown angle(s) in the triangle.
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A midsegment of a triangle is a segment that joins
the midpoints of two sides of the triangle. Every
triangle has three midsegments, which form the
midsegment triangle.

Midsegments: X_Y Y_Z 27
Midsegment triangle;: AXYZ

Theorem 6.8 Triangle Midsegment Theorem

The segment connecting the midpoints of two sides of B
a triangle is parallel to the third side and is half as
long as that side.

DE is a midsegment of AABC, DE ||AC.
and DE = JAC.
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Wrile a coordinate proof of lhe Triangle
Midsegmenl Theorem for one midsegment
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Given pf is a midsegment of 20BC.
Prove DE| OC and DE = (1/2)0C
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Find the value of n.
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Use the diagram for Items 1-3. Find each
measure.
4\
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2.48 = 2(3)= 14
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4. AXYZ is the midsegment triangle of AWUV.
What is the perimeter of AXYZ?
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Homework:
pg. 333 # 3,4, 7-21, 25



